\AOC/\IA)KEHHQ TA
~ PO3POBKA
[MPUCTPOI ANS

EIOPE30HAHCHOI







Das

uasE

— 6 (RESET)

P00 ()

enr i)
4
|FD2 (7).

2 P03 (INT ])

04 ¢70)

2

[GND

FB& (XTALL)

| Pa7 (iT412)

DS (T1)

=

7 (AINI)

PBO (CLEC)

PC3 (ADES) |

res ancylt

FC3(4DC3)

Pe2 (4=

Pl (DT

4
Ry =

19
PB5 (5CH)

FEB4 (MI3

PR3 (M

PB2 (0C1B)

15
PBI(OCLA)




Inaukarop
JKUJIEHHS

|

['eHeparop
CUTHAJTY

JIIABHUK
4acTOTH

|

Cucrema
YKUBJICHHSI

MikpokoHTponep
ATMega8

L

brnok
IHaAMKaL]

3ymep

LCD nucmeit [TiacunroBau

[Tomyk BAT

N

1 2










100 k Ohm 100 k Ohm

3 kOhm




" oscilloscope

721 .8934 ms

T 8 .88800 = 721 .8934 ms
VAl |-S18.8972 mV 49 .4629 LT 49 .9818 LY
47 .9483 A 47 . 9615 Y

wB1 —13 . 26869 mV
Time base - Channel A Channel B
e | G ¥ postion [0.00 =] | ¥ pesition [2.00 |
EEEl e/a | A | AC | o | EE AC | o | EE




- AdKyro 30 ybazy!




